LHS 7101=71 2!

=5 4Y/HIE o[0ix|

$11
-~

RAL7021

Hz 54

N

RAL 6032

© HEINRICH KIPP WERK GmbH & Co. KG

Foi x|

RAL 5017

rr,

<

I_
I—

RAL 1021

SHetEA]

*

RAL 7035

NEswy

S

RAL 3020

ks

HE &9:

QlelA ZHX{s Mo 2 olsh &F k|7t Hste He YIS
QI3 AHSELICH &3 HHE 180° S22 &3 Elo| el /IxI2 Sotet
3 RIS HEE = A FHulc 22 MY &2 & HE7H o QAR
of DEElof &2 ElO| #2f 9Ix|2 Sole Metg sz S g
THE:

LIAF £2[2 & &3 B 1.0503

SR LA

o2t A2 1431

XP.‘L*’&*'QE Iilh'z'-EIEI %*-’;S =)

o
o}
o
).
=
|

1o
ﬁ
H

o

I

- 22 3|M RAL 7021

E-l)HII

F AH

T 2HAH RAL 1021
5 uwrZHAH RAL 3020
=

=

1
n
-

=M RAL 6032
MFEJ&* RAL 5017

= >rx

1

rO

o=
LHE 7}0|E7t Qe QIEA EHX = HM
=2 L

= 1
Fo| M 2ol ZEIE &+ U&LICH

(]
4
P
Hu
e
A
[>
_"fl
H
on
to

2 &3 HHE 180° EtiAM Z 74 &Lt
TZE LIAL £E|E20| 20| Eo{7t= WS
g7tz QA EXIE 27 Z2E £ s

MMIAME]:
EEﬂOI*' = E K0638.
EZX|MHL —b.'-’s' K1290.

EMH MY

Erel A 71 HH 7 918, B3 LE 98
EbelB: &3 b 2 912, B3 LE US
etel C: &3 b 7 918, B3 e ¢l
etel D: &3 ot 2 918, &3 e US

www.kipp.com - info@kipp.com 1/3



°
—_ —
LIS 70| =7} QU= QI A ZRIK| AR
=N
® © ®
L1 L1
il L
e [ D4 [11D
[ i lﬁ:
- -~
o | Sw1 fa | —— swi
w L 1 ] w BEES|
= ! | Sw2 = ! ! Sz
T == T S—(—
oL D35
M A—IAL
o 5 by
%‘ 8 -1
Z= Q0
LIS 710| =7} Q= QIHiA E8IX AE
FEHS Et TAE AL D D1 D2 L L1 L3 B BT H SW1 SW2 Fx30° AJZf EtM
EFS 2
F12F N F2 2N
K1677.0405101 A - 5 M10x1 16 458 25 15 9 3 6 13 - 1,3 8 14
K1677.0406121 A - 6 M12x1,5 17,4 554 30 19 10,236 8 14 - 1,8 8 15
K1677.0408161 A - 8 M16x1,5 216 71 40 26 144 4810 19 - 2,3 15 35
K1677.0410201 A - 10 M20x1,5 24,8 80,5 50 30 17 6 12 22 - 2,8 20 60
K1677.0505101 B - 5 M10x1 16 458 25 15 9 3 6 13 17 1,3 8 14
K1677.0506121 B - 6 M12x1,5 174 554 30 1910236 8 14 19 1,8 8 15
K1677.0508161 B - 8 M16x1,5 21,6 71 40 26144 4810 19 24 23 15 35
K1677.0510201 B - 10 M20x1,5 24,8 80,5 50 30 17 6 12 22 30 2,8 20 60
K1677.0605101 C Z3|M RAL 7021 5 M10x1 16 467 2631510949 6 13 - 1,3 8 14
K1677.0606121 C 73| RAL 7021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1677.0608161 C 3| RAL 7021 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 - 2,3 15 35
K1677.0610201 c 3|M RAL 7021 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1677.06051012 C F0{ 27X RAL2004 5 M10x1 16 46,7 26,3 15 10,949 6 13 - 1,3 8 14
K1677.06061212 C F0{ 2#X|RAL2004 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1677.06081612 C Fo{ 2#X|RAL2004 8 M16x1,5 21,6 726 42 26 17,7 8,110 19 - 2,3 15 35
K1677.06102012 C Fo0{ 23X|RAL 2004 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1677.060510116 C g2 =2 RAL 1021 5 M10x1 16 46,7 26,315 10,949 6 13 - 1,3 8 14
K1677.060612116 C g2 =2 RAL 1021 6 M12x1,5 17,4 565 31,519 13 58 8 14 - 1,8 8 15
K1677.060816116 C gt2 2 RAL 1021 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 - 23 15 35
K1677.061020116 C g2 2 RAL 1021 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,5 12 22 - 2,8 20 60
K1677.060510148 C AMSSWZFRAL3020 5 M10x1 16 46,7 26,3 15 10,949 6 13 - 1,3 8 14
K1677.060612148 C AMES WZRAL3020 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1677.060816148 C AESS wZRAL3020 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 - 2,3 15 35
K1677.061020148 C AlS 5 Wz RAL 3020 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1677.060510186 C Alad sMRAL6032 5 M10x1 16 46,7 26,3 1510949 6 13 - 1,3 8 14
K1677.060612186 C Alad sMRAL6032 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1677.060816186 C Al2d sMRAL6032 8 M16x1,5 21,6 726 42 26 17,7 8,110 19 - 2,3 15 35
K1677.061020186 C Alad sMRAL6032 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1677.060510187 C AMES O RAL5017 5 M10x1 16 46,7 26,3 15 10,949 6 13 - 1,3 8 14
K1677.060612187 C AES5 o2 RAL5017 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1677.060816187 C AlE5 m2 RAL5017 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 - 23 15 35
K1677.061020187 C A5 5 o2 RAL5017 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1677.060510188 C 15t &|M RAL 7035 5 M10x1 16 46,7 26,31510,949 6 13 - 1,3 8 14
K1677.060612188 C 18t 3| M RAL 7035 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1677.060816188 C 18t 3| M RAL 7035 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 - 2,3 15 35
K1677.061020188 C O_% 3|M RAL7035 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1677.0705101 D 3|M RAL 7021 5 M10x1 16 46,7 26,31510949 6 13 17 1,3 8 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
—_ —
LIS 710| =7} QU= QA SR AR
EZS 29
FEHS EFQJ TEHE M4 D D1 D2 L L1 L3 B BT H SW1 SW2 Fx30° AJZ EbAM
ERS 2
F1 2% N F2 2. N
K1677.0706121 D ZE[M RAL 7021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.0708161 D 45| RAL 7021 8 M16x1,5 21,6 726 42 26 17,78110 19 24 23 15 35
K1677.0710201 D Z43|M RAL 7021 10 M20x1,5 24,8 82,3 51,6 302159512 22 30 28 20 60
K1677.07051012 D F0o{ 2X|RAL2004 5 M10x1 16 46,7 26,3 1510949 6 13 17 1,3 8 14
K1677.07061212 D Fo{ 2#X|RAL2004 6 M12x1,5 17,4 565 31,519 13 58 8 14 19 1,8 8 15
K1677.07081612 D Fo{ 2BX|RAL2004 8 M16x1,5 216 72,6 42 26 17,78110 19 24 23 15 35
K1677.07102012 D Fo{ 2BIX| RAL 2004 10 M20x1,5 24,8 82,3 51,6 30 21,59512 22 30 2,8 20 60
K1677.070510116 D gfe 2 RAL 1021 5 M10x1 16 467 2631510949 6 13 17 1,3 8 14
K1677.070612116 D gfe 2 RAL 1021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.070816116 D gfe 2 RAL 1021 8 M16x1,5 21,6 726 42 26 17,78110 19 24 23 15 35
K1677.071020116 D gfe =2FRAL1021 10 M20x1,5 24,8 823 51,6 30 21,5 9512 22 30 28 20 60
K1677.070510148 D AES WZFRAL3020 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1677.070612148 D AES WZFRAL3020 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.070816148 D AlZS Wz RAL3020 8 M16x1,5 21,6 72,6 42 26 17,78110 19 24 23 15 35
K1677.071020148 D A3 5 Wz RAL 3020 10 M20x1,5 24,8 82,3 51,6 3021,59512 22 30 2,8 20 60
K1677.070510186 D Al1d =SMRAL6032 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1677.070612186 D Al1d SMRAL6032 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.070816186 D Alad sMRAL6032 8 M16x1,5 216 72,6 42 26 17,78110 19 24 23 15 35
K1677.071020186 D Al2d SN RAL6032 10 M20x1,5 24,8 82,3 51,6 30 21,59512 22 30 2,8 20 60
K1677.070510187 D AE5S o2 RAL5017 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1677.070612187 D A535 o2 RAL5017 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.070816187 D A55 02 RAL5017 8 M16x1,5 21,6 72,6 42 26 17,78110 19 24 23 15 35
K1677.071020187 D 4135 o2 RAL5017 10 M20x1,5 24,8 82,3 51,6 30 21,59512 22 30 28 20 60
K1677.070510188 D Q13 3| RAL 7035 5 M10x1 16 467 26,3 1510949 6 13 17 1,3 8 14
K1677.070612188 D Q1% 3| RAL 7035 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.070816188 D Q43 3| RAL 7035 8 M16x1,5 21,6 726 42 26 17,78110 19 24 23 15 35
K1677.071020188 D 13t 3|Af RAL 7035 10 M20x1,5 24,8 82,3 51,6 30 2159512 22 30 2,8 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



